Dated 22.02.2024

/BAG

N Y
ISUI1 FALO' |,
HANDCRAFTED\ i LEATHER
Mounting instructions saddleb@g bracket "Easy Fit"

6
fur HD Softail (2018-2021) & Cruiser (2022-)

L[

olP
o

‘9 Scope of supply:
','l"’i 1x Saddlebag bracket "Easy Fit"

2x Bungee Nut 3/8"

1x Screw 3/8" x 16 UNC x 2 14"

2x Screw 3/8" x 16 UNC x 1 4"

2Xx Grub screw 3/8 x 16 UNC x 1 34°
6x Hexagon screw VA 5x20

6x Nut 5Smm, self-locking

12X Washer 5mm

Step 1: First loosen the two screws in the centre of the fender struts. Please note that there are different hole spacings for the
different models. We also offer different brackets for the different distances. The two original screws are not reused, but please
keep them in case you want to remove the bracket again.

Step 2: The two bungee nuts must now be attached to the fender. There are two options for mounting them.

e First variant: Take the two hexagon socket screws and screw them through the fender from behind. At the front you

will now see the two threads onto which you screw the two bungee nuts. Please also use a commercially available
threadlocker to secure the bungee nuts..

e Second variant: The scope of supply also includes two grub screws. First attach the bungee nuts to these pins (also

use threadlocker) and screw these pins with the bungee nuts into the threads of the fender struts from the front. This
IS certainly the simpler option..

e Note: A longer hexagon bolt is also included in the scope of supply. Please use this if you have installed a sissy bar on
your motorbike. This longer bolt is screwed In at the rear..

Step 3. Now determine the position of the bracket at the saddlebag. Our bags have a sewn-in aluminium plate on the back so
that the bag can be screwed on specifically for your motorbike and at the desired height. Please hold the bag against your
motorbike, select the desired position and mark the holes on the bag. The easiest way to do this is with a second person. Now

drill the marked holes through our bag using a Smm drill bit. To attach the bracket to the bag, please use the 5x20 hexagon
screws, the washers and the self-locking nuts..

Step 4: The bracket is then hooked into the bungee nuts. Please check in advance that the lock plates are firmly screwed to
the bracket. The bracket can then be hooked in and locked..

Note: Please always check that all screws are tight before driving and retighten them if necessary.

Bungee-Nuts with grub screw Hooked bracket in the Mounted Saddlebag

A R

. Tel.: 0049-4347-706970
Hansen Styling Parts Fax.: 0049-4347-3201

Dorfstr. 9 info@hansen-styling-parts.de
24247 Mielkendorf WWW-haﬁgﬁpféSlmgggiggr%S-de




